
 1 of 4 

 

   
IN

S
TA

LL
AT

IO
N

 &
 O

W
N

E
R

’S
 M

A
N

U
A

L John Deere 2 Family 

Seal Kit 
P/N: 9JD2FSK 

Fits Tractor Models: 2032 & 2038R 

Rev. A, 08/24/2017 

p/n: IM-9JD2FSK 

The contents of this envelope are the property of the owner.  Leave with the owner when installation is complete. 



 

 2 of 4 

TABLE OF CONTENTS 
 

WARNINGS, TIPS, & REQUIRED TOOLS ...................................................... 3 

SEAL KIT INSTALLATION ............................................................................... 4 



 

 3 of 4 

Curtis cabs feature an assembly of parts designed for your vehicle which require adjustment 
and alignment of components to accommodate vehicle variations and provide proper weather 
protection. For accurate installation, proper operation, and years of satisfaction, please read 
and understand the installation and owner’s manual fully prior to installing the seal kit. 
 

From all of us at Curtis, we thank you for choosing our product. 

HELPFUL HINTS: 
 Read and understand all instructions before beginning. 

  driver and passenger.

  Curtis accessory weights are listed in product
  add additional weight to the base vehicle. All
  Curtis Cabs, blades and general accessories

ADDED
WEIGHT

  brochures. Deduct the accessory's total weight
  from the vehicle's rated capacity and never
  exceed the vehicle's rated capacity including

 Exposure to Carbon Monoxide 
can Cause illness, serious injury or 

death.  Never operate vehicle if suspicious of Carbon Monox-
ide.  Inspect exhaust system for leaks monthly.  Leaks can 
result from loose connections, corrosion, cracks or other 
damage to the exhaust manifold.  If leaks are found, repair or 
replace exhaust system.  Do not use vehicle until repair or 

 Drill/Driver 
 #2 Phillips Head Bit 

 

WARNINGS, TIPS, & REQUIRED TOOLS 

TOOLS REQUIRED: 

GENERAL INFORMATION BEFORE YOU START 

California Health and Safety Proposition 65 Warning: This product may contain chemicals 
known to the state of California to cause cancer and birth defects or other reproductive harm.   



SEAL KIT INSTALLATION 

 4 of 4 

STEP 1: (SORT SCREWS) 
 

1.1 Included in this kit are two different lengths of self 
drilling screws.  The shorter screws (1/2” long) are 
to be used in the pre-drilled cab A-pillar 
floorboards, and the longer screws (3/4” long) will 
be used in the vehicle floorboard through the 
rubber mat. 

 

STEP 2: (LEFT BRUSHES) 
 

Note: Orient all brushes so the flatter of the two 
sides mates to the mounting surface. 

2.1 Start by attaching a brush in front of the brake 
pedals with the shorter 1/2” self drilling screws in 
the pre-drilled A-pillar holes.  See Figure 2.1.  One 
hole of the brush will overhang the floorboard and 
does not need a screw. 

Hardware Used    Qty 

#10 x 1/2” Pan Head Screw   2 

Tools Required 

#2 Phillips bit and a drill/driver 
 

2.2 Line up a brush behind the pedals so that it closes 
as much of the remaining gap as best as possible 
and secure with longer 3/4” self drilling screws.  
See Figure 2.2. 

Hardware Used    Qty 

#10 x 3/4” Pan Head Screw   3 

Tools Required 

#2 Phillips bit and a drill/driver 
 

STEP 3: (RIGHT BRUSHES) 
 

3.1 Start by attaching a brush in front of the pedals with 
the shorter 1/2” self drilling screws in the pre-drilled 
A-pillar holes.  See Figure 3.1.   

Hardware Used    Qty 

#10 x 1/2” Pan Head Screw   3 

Tools Required 

#2 Phillips bit and a drill/driver 
 

3.2 Line up a brush behind the pedals so that it closes 
as much of the remaining gap as best as possible 
and secure with longer 3/4” self drilling screws.  
See Figure 3.2. 

Hardware Used    Qty 

#10 x 3/4” Pan Head Screw   3 

Tools Required 

#2 Phillips bit and a drill/driver 

Fig. 2.1 (Attach Front Brush) 

#10 x 1/2” Self Drilling Screw No Screw 

Fig. 2.2 (Attach Rear Brush) 

#10 x 3/4” Self Drilling Screw 

Fig. 3.1 (Attach Front Brush) 

Fig. 3.2 (Attach Rear Brush) 

#10 x 3/4” Self Drilling Screw 

#10 x 1/2” Self Drilling Screw 


